WWDM 752570 WARP 752574

WHXT 572575

CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges. See Invoice for actual schedule and charges.				
Jane H Murray , hereby request station time as follows:				
IDENTIFY CANDIDATE TYPE ■ FEDERAL CANDIDATE STATE OR LOCAL CANDIDATE				
ALL QUESTIONS/BLOCKS	MUST BE COMPLETED			
Candidate name:				
Russell Ott				
Authorized committee:				
Russell Ott for Senate				
Agency requesting time (and contact information):				
N/A Zimmerman & Murray Associates				
Candidate's political party:				
Democrat				
Office sought (no acronyms or abbreviations): SC State Senate				
Date of election: June 11, 2024	General ✓ Primary			
Treasurer of candidate's authorized committee:				
Russell Ott				
The undersigned represents that: (1) the payment for the broadcast time requested has been furnished the candidate listed above who is a legally qualified candidate. This station has disclosed its political advertising policies, included and other sales practices (not applicable to federal candidate.) THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATE OR PERMIT DISCRIMINATE.	didate, or date listed above; y such person or entity; and luding applicable classes and rates, discount, promotion tes).			
Candidate/Committee/Agency	Station Representative			
Signature:	Signature: Hobbley			
Name: Jane H. Murray	Name: Felicia Cokley			
Date of Request to Purchase Ad Time:	Date of Station Agreement to Sell Time: 5/16/29			

Federal Candidate Certification: The undersigned hereby certifies that the broadcast matter to be aired pursuant to this disclosure either (1) does not refer to an opposing candidate or, if it does, (2) contains a clearly identifiable photograph or similar image of the candidate for a duration of at least four seconds and a simultaneously displayed printed statement identifying the candidate, that the candidate approved the broadcast and that the candidate and/or the candidate's authorized committee paid for the broadcast or if radio programming, contains a personal audio statement by the candidate that identifies the candidate, the office being sought and that the candidate has approved the broadcast.					
Candidate/Authorized Committee/A	agency				
Signature:					
Name:					
Date:					
Ad submitted to Station? Yes	BE COMPLETED BY STATION OF No Date ad received:	5/16/24			
Federal candidate certification signed (ab	ove): Yes No	N/A			
Rejected – provide reason:	not yet received to determine sponsor ID omptly upload updated final form when co				
Contract #: 752574 575 570	Station Call Letters: WANG (WWDM) WHKT	Date Received/Requested: 5/16/24			
Est. #: Station Location: Run Start and End Dates: 5/20 - 6/16					
use this space to document schedule of t	will not upload the actual times spots aired	the rates charged and the classes of time			

BCRA POLITICAL RECORD

This Political Record is required by the Bipartisan Campaign Reform Act of 2002 (BCRA) to be completed every time a request is made to purchase broadcast time that (1) is made by or on behalf of a legally qualified candidate for public office, or (2) communicates a message relating to any political matter of national importance, including a legally qualified candidate, any election to federal office, or a national legislative issue of public importance. The Political Record is not required for requests to purchase internet advertising. Once completed, the Political Record must be placed in the station's local public inspection file and must be retained for two years.

This Record is for	☐ a candidate request ☐ an election message request * ☐ an issue request *	The request was	□ accepted # □ rejected		
Candidate Named i	n Message:	Russel Ott			
Office Being Sought:		SC State Senate			
Election or Issue Referred to:		Primary			
Sponsor (or authorized candidate committee):					
Treasurer of authorized candidate committee:		Jane Murray			
Person Ordering Ac	dvertising:	- Jane Warray			

* An "election message request" is a request made by anyone to broadcast a message that refers either to a legally qualified candidate or to any election to federal office.

An "issue request" is a message related to a national legislative issue of public importance or a political matter of national importance.

If the request is accepted, attach the sales order showing the rate charged, the date(s) and time(s) the message is aired, and the class of time purchased. For an <u>issue request</u>, also attach the name, address, and phone number of a contact person, and a list of the chief executive officers or mem bers of the executive committee or of the board of directors of the sponsor.

CONTRACT



Alpha Media LLC 1900 Pineview Drive Columbia, SC 29209 (803) 695-8600

And:

Zimmerman & Murray Associates, Inc.(SC) 1286 University Avenue #245 San Diego, CA 92103

	Contract / Re 752574	vision	Alt Order	· <u>#</u>
A	752574	1	Original Dat	a / Davision
Advertiser			Original Dat	e / Revision
POL 24/ Russel Ott			05/15/24	/ 05/15/24
Contract Dates	Estimate #			
05/20/24 - 06/16/24				
Product				
Russel Ott for State Se	enate			
	Billing Cycle	Billing	Calendar	Cash/Trade
	EOM/EOC	Broad	cast	Cash
	Property	Account Executive S		Sales Office

Property Account Executive Sales Office Local-Columbia

Special Handling

Demographic Households

Agy Code Advertiser Code Product 1/2

Agency Ref Advertiser Ref

*Line Ch Start Date End Date Description		Start/End Time	Days	Sr Length W	oots/ eek	Rate T	Type S	pots	Amount
N 1 WARQ 05/20/24 06/11/24 Mo-Fr AM		6a-10a		:30			NM	17	\$136.00
Start Date End Date Weekdays	Spots/Week	Rate					- 1		
Week: 05/20/24 05/26/24 11111	5	\$8.00					- 1		
Week: 05/27/24 06/02/24 11111	5	\$8.00					- 1		
Week: 06/03/24 06/09/24 11111	5	\$8.00							
Week: 06/10/24 06/16/24 11	2	\$8.00							
N 2 WARQ 05/20/24 06/11/24 Mo-Fr Midda	ν	10a-3p		:30			NM	17	\$119.00
Start Date End Date Weekdays	Spots/Week	Rate					- 1		
Week: 05/20/24 05/26/24 11111	5	\$7.00					8		
Week: 05/27/24 06/02/24 11111	5	\$7.00							
Week: 06/03/24 06/09/24 11111	5	\$7.00							
Week: 06/10/24 06/16/24 11	2	\$7.00							
N 3 WARQ 05/20/24 06/10/24 Mo-Fr PM		3p-7p		:30			NM	16	\$128.00
Start Date End Date Weekdays	Spots/Week	Rate					ı		
Week: 05/20/24 05/26/24 11111	5	\$8.00					1		
Week: 05/27/24 06/02/24 11111	5	\$8.00							
Week: 06/03/24 06/09/24 11111	5	\$8.00					- 1		
Week: 06/10/24 06/16/24 1	1	\$8.00							
			Totals					50	\$383.00

of Spots Time Period **Gross Amount** Agency Comm. **Net Amount** 04/29/24 -05/26/24 (\$17.25)\$97.75 15 \$115.00 05/27/24 -06/11/24 35 \$268.00 (\$40.20)\$227.80 Totals 50 \$383.00 \$325.55 (\$57.45)

200		
Signature:	Date:	
•		

CONTRACT



Alpha Media LLC 1900 Pineview Drive Columbia, SC 29209 (803) 695-8600

And	
MIIU	

Zimmerman & Murray Associates, Inc.(SC) 1286 University Avenue #245 San Diego, CA 92103

	Contract / Revision	Alt Order #	_
	752575 /	1	
Advertiser		Original Date / Revision	-
POL 24/ Russel Ott		05/15/24 / 05/15/24	
Contract Dates	Estimate #	<u>' </u>	_
05/20/24 - 06/16/24			
Product			-
Russel Ott for State Se	enate		
	Billing Cycle Billing	Calendar Cash/Trade	_

EOM/EOC Broadcast Cash Property Account Executive Sales Office WHXT-FM Steven Powell Local-Columbia Special Handling Demographic Households Agy Code Advertiser Code Product 1/2 Advertiser Ref Agency Ref

*Line Ch Start Date End Date Description	١	Start/End Time	Days	Spots/ Length Week	Rate	TypeS	Spots	Amount
N 1 WHXT 05/20/24 06/11/24 Mo-Fr AM		6a-10a		:30		NM	17	\$425.00
Start Date End Date Weekdays	Spots/Week	Rate						
Week: 05/20/24 05/26/24 11111	5	S25.00						
Week: 05/27/24 06/02/24 11111	5	\$25.00						
Week: 06/03/24 06/09/24 11111	5	\$25.00				1		
Week: 06/10/24 06/16/24 11	2	\$25.00				ı		
N 2 WHXT 05/20/24 06/11/24 Mo-Fr Midda	ау	10a-3p		:30		NM	17	\$340.00
Start Date End Date Weekdays	Spots/Week	Rate				1		
Week: 05/20/24 05/26/24 11111	5	\$20.00				1		
Week: 05/27/24 06/02/24 11111	5	\$20.00				1		
Week: 06/03/24 06/09/24 11111	5	\$20.00				- 1		
Week: 06/10/24 06/16/24 11	2	\$20.00						
N 3 WHXT 05/20/24 06/10/24 Mo-Fr PM		3p-7p		:30		NM	16	\$448.00
Start Date	Spots/Week	Rate				i		
Week: 05/20/24 05/26/24 11111	5	\$28.00						
Week: 05/27/24 06/02/24 11111	5	\$28.00						
Week: 06/03/24 06/09/24 11111	5	\$28.00				1		
Week: 06/10/24 06/16/24 1	1	\$28.00		-				

Time Period # of Spots **Gross Amount** Agency Comm. Net Amount \$310.25 04/29/24 -05/26/24 15 \$365.00 (\$54.75)05/27/24 -06/11/24 35 \$848.00 (\$127.20)\$720.80 \$1,031.05 Totals 50 \$1,213.00 (\$181.95)

Totals

Signature:	Date:	
------------	-------	--

50

\$1,213.00

CONTRACT



Alpha Media LLC 1900 Pineview Drive Columbia, SC 29209 (803) 695-8600

And:

Zimmerman & Murray Associates, Inc.(SC) 1286 University Avenue #245 San Diego, CA 92103

	Contract / Revision 752570 /	Alt Order #
Advertiser		Original Date / Revision
POL 24/ Russel Ott		05/15/24 / 05/15/24
Contract Dates	Estimate #	
05/20/24 - 06/16/24		
Product Russel Ott for State Se	nata	
Russel Oll for State Se		
	Billing Cycle Billing	Calendar Cash/Trade

Billing Cycle	Billing Calendar	Cash/Trade
EOM/EOC	Broadcast	Cash
Property	Account Executive	Sales Office
WWDM-FM	Steven Powell	Local-Columbia
Special Hand	lling	
Demographic		
Households		
Agy Code	Advertiser Code	Product 1/2
	,	
Agency Ref	Advertis	er Ref

						-				
				Start/End		Spots/				
*Line Ch Start [Date End Da	ate Descriptio	n	Time	Days	Length Week	Rate	Type S	pots	Amount
N 1 WWDM05/20/	24 06/11/2	24 Mo-Fr AM		6a-10a		:30		NM	17	\$952.00
Start Date	End Date	Weekdays	Spots/Week	Rate				- 1		
Week: 05/20/24	05/26/24	11111	5	\$56.00				- 1		
Week: 05/27/24	06/02/24	11111	5	\$56.00				1		
Week: 06/03/24	06/09/24	11111	5	\$56.00				- 1		
Week: 06/10/24	06/16/24	11	2	\$56.00						
N 2 WWDM05/20/	/24 06/11/2	24 Mo-Fr Midd	ay	10a-3p		:30		NM	17	\$510.00
Start Date	End Date	Weekdays	Spots/Week	Rate				- 1		
Week: 05/20/24	05/26/24	11111	5	\$30.00				1		
Week: 05/27/24	06/02/24	11111	5	\$30.00				1		
Week: 06/03/24	06/09/24	11111	5	\$30.00				1		
Week: 06/10/24	06/16/24	11	2	\$30.00						
N 3 WWDM05/20/	/24 06/10/2	24 Mo-Fr PM		3p-7p		:30		NM	16	\$800.00
Start Date	End Date	Weekdays	Spots/Week	Rate				1		
Week: 05/20/24	05/26/24	11111	5	\$50.00						
Week: 05/27/24	06/02/24	11111	5	\$50.00						
Week: 06/03/24	06/09/24	11111	5	\$50.00				- 1		
Week: 06/10/24	06/16/24	1	1	\$50.00						
					Totals				50	\$2,262.00

Time Peri	od	# of Spots	Gross Amount	Agency Comm.	Net Amount
04/29/24	-05/26/24	15	\$680.00	(\$102.00)	\$578.00
05/27/24	-06/11/24	35	\$1,582.00	(\$237.30)	\$1,344.70
Totals		50	\$2,262.00	(\$339.30)	\$1,922.70

Signature: Date	e:
-----------------	----

Momentum National - Russell Ott - Flight Dates 5/20/24 - 6/11/24

WWDM-FM 101.3 Urban AC

STATION	DAY	TIME	DAYPART LENGTH	LENGTH	20-May	27-May	3-Jun	10-Jun	10-Jun Spot Total Rate	Rate	Total
WWDM-FM 101.3	M-F	6AM - 10AM	AM Drive	:30	2	2	2	2	17	\$56.00	\$952.00
WWDM-FM 101.3	M-F	10AM - 3PM	Midday	:30	2	2	2	2	17	\$30.00	\$510.00
WWDM-FM 101.3	M-F	3PM - 7PM	PM Drive	:30	5	5	2	1	16	\$50.00	\$800.00
					15	15	15	2	20		\$2,262.00

Momentum National - Russell Ott - Flight Dates 5/20/24 - 6/11/24

WARQ-FM Top 40		93.5									
Station	DAY	TIME	DAYPART LENGTH	LENGTH	20-May	27-May	3-Jun	10-Jun	10-Jun Spot Total Rate	Rate	Total
WARQ-FM	M-F	6AM - 10AM	AM Drive	:30	2	5	5	2	17	\$8.00	\$136.00
WARQ-FM	M-F	10AM - 3PM	Midday	:30	2	2	5	2	17	\$7.00	\$119.00
WARQ-FM	M-F	3PM - 7PM	PM Drive	:30	2	2	2	-	16	\$8.00	\$128.00
					15	15	15	5	50		\$383.00

Momentum National - Russell Ott - Flight Dates 5/20/24 - 6/11/24

Station	DAY	TIME	DAYPART LENGTH	LENGTH	20-May	27-May	3-Jun	10-Jun	10-Jun Spot Total Rate	Rate	Total
WHXT-FM	M-M	6AM - 10AM	AM Drive	:30	2	2	2	2	17	\$25.00	\$425.00
WHXT-FM	M-F	10AM - 3PM	Midday	:30	2	5	2	2	17	\$20.00	\$340.00
WHXT-FM	M-F	3PM - 7PM	PM Drive	:30	2	2	2	-	16	\$28.00	\$448.00
					15	15	15	5	50		\$1,213.00